Ball Joint Type

High Rigidity Pad ZP3E Series
Mounting Bracket Assembly

Adapter Assembly: Vacuum Inlet Direction T Type/ZP3E-TF

Product ZP3E - TF O @ O - 3)(AL6/AL12)
part no. l
Pad diameter T Connection thread (Male thread)
Pad form Pad material
g:rlgponent (™Stopper
(®Holder
©Ball joint unit
With seal washer
With mounting nut
,% Seal washer
Mounting nut
@Pad diameter symbol
Symbol
32 40 50 63 80 100 125
(Astopper ZP3EA-S1 ZP3EA-S2
Flat type with | g ZP3EA-H3B ZP3EA-H4B | ZP3EA-H5B

BHolder [Nl Ir0% ZP3EA-H1B ZP3EA-H2B

e Mo ve| BM ZP3EA-H3B \ ZP3EA-H4B | ZP3EA-H5B | ZP3EA-H6B

T =

Sl T YRe vt ym ZP3EA-F3-AL12 ZP3EA-F4-AL12 | ZP3EA-F5-AL12
Balljoint unit (S Belovs e gpg | ZP3EAFI-ALG 2RO AR ALS | EAFaALT2 | ZP3EA-F4-AL12 | ZP3EA-F5-AL12 | ZP3EA-F6-AL12

ribs and groove ron -rae =ro° o
@seal washer M6 x 1 ZP3EA-SW6 —_
(Single unit) M12 x 1.25 — ZP3EA-SW12
(EMounting nut M6 x 1 SNJ-006C —
(Single unit) M12 x 1.25 — ZPNA-M12

® 241




Adapter Assembly: Vacuum Inlet Direction T Type/ZP3E-TF

High Rigidity Pad
Mounting Bracket Assembly

Ball Joint Type

ZP3E Series

Product ZP3E - TF ) @ O - 3)(AL14/AL16/B8/B12)
part no.
Pad diameter T T lConnection thread (Male/Female thread)
Pad form Pad material
Component
parts @opper

(®Ball joint unit
(Male thread)
(With mounting nut)

. Mounting nut

(®Ball joint unit
(Female thread)

Model
Selection

>
e
2
o
=
2
I
PPad diameter symbol ] %
Symbol 293
32 40 50 63 80 100 125 [
(®stopper ZP3EA-S1 ZP3EA-S2 o §
< 03| Mi4x1 |AL14| ZP3EU-F1-TAL14 ‘ZP3EU-F2-TAL14 — e
= © O b=
> 2 =M= | M16x15 |AL16 — ZP3EU-F3-TAL16 ‘ZP3EU-F4-TAL16‘ZP3EU-F5-TAL16 S o
= (o3 o T 8
4 - B 20| M8x125 | B8 | ZP3EU-FI-TB8 | ZPIEU-F2TBY —_ =5
2 BHE = £ O 5=
4 ¢ 5 S £ Mi2x175 |B12 — ZP3EU-F3-TB12 ‘ZP3EU-F4-TB12 \ zp3EuFsTBI2 | |25
= I -
= Plse M o3 Miax1 |AL14| ZP3EU-F1-TAL14 ‘ZP3EU-F2-TAL14 — pm—
<} T O 3
® 8§ § == Mi6x15 |AL16 — ZP3EU-F3-TAL16‘ZP3EU-F4-TAL16‘ZP3EU-F5-TAL16‘ZP3EU-F6-TAL16 g5
=5 =
g% (N2 ol vgx1.25 | B8 ZP3EU-F1-TB8 \ ZP3EU-F2-TB8 — 52
Sg £ 0 s
ks O £ M12x1.75 |B12 — ZP3EU-F3-TB12 \ ZP3EU-FA-TB12 \ ZP3EU-F5-TB12 \ ZP3EU-F6-TB12 £
©Mounting nut M14 x 1 ZPNA-M14 — g
(Single unit) M16 x 1.5 — RBQ16J ES
=
A

Construction

o, >
=il
=Xe
€05
380

]
Em<

Precautions

242 ®




High Rigidity Pad Ball Joint Type
Mounting Bracket Assembly ZP 3E Series

Adapter Assembly: Vacuum Inlet Direction Y Type/ZP3E-YF

Product ZPE-YFOO @ O-0B
part no. T
Pad diameter T T Connection thread (Male/Female thread)
Pad form Pad material
Component
parts

(BBall jointunit ~ (®Ball joint unit
(Male thread) (Female thread)
(With mounting nut)

Mounting nut

— PPad diameter symbol
32 40 50 63 80 100 125
®stopper ZP3EA-S1 ZP3EA-S2
< @3 Mi4x1 |AL14| ZP3EU-F1-YAL14 ‘ZPSEU-FZ-YAL14 —
§ g T SE Mi6x15 |ALI6 — ZP3EU-F3-YAL16 ‘ZP3EU-F4-YAL16‘ZPSEU-F5-YAL16
'§ £ g% f'::’ ég M8x1.25 | B8 | ZP3EU-F1-YB8 \ ZP3EU-F2-YBS —
.'g g T § S S| M12x1.75 [B12 — ZP3EU-F3-YB12 ‘ZP3EU-F4-YB12‘ZP3EU-F5-YB12
= N g2 ] 28| Mi4x1 |AL14| ZP3EU-FI-YAL14 ‘ZPSEU-FZ-YALM —
® §§, § =c| M16x1.5 |AL16 — ZP3EU-F3-YAL16‘ZPSEU-F4-YAL16‘ZP3EU-F5-YAL16‘ZPSEU-FG-YAUG
£5 (] §§ M8x1.25 | B8 | ZP3EU-F1-YB8 \ ZP3EU-F2-YB8 —
k= P E| M12x1.75 |B12 — ZPSEU-F3-YB12‘ZPSEU-F4-YB12 ZPSEU-F5-YB12‘ZPSEU-FG-YB12
©Mounting nut M14 x 1 ZPNA-M14 —
(Single unit) M16 x 1.5 — RBQ16J

® 243



High Rigidity Pad
Mounting Bracket Assem

by ZP3E Series

Ball Joint Type

Model
Selection

Buffer Assembly: Vacuum Inlet Direction T Type/ZP3E-TF, Y Type/ZP3E-YF

Product ZP3E-(T/Y)FO@OJB B
part no. T
Pad diameter T T Buffer stroke
Pad form Pad material
Component ®Stopper
parts p
© (®Ball joint buffer unit ®Ball joint buffer unit
(Male thread) (Female thread)
S (With mounting nut)  (With mounting nut)
3 2
i)
=
o
<
=)
I
02
=8
s
S c
=
PPad diameter symbol j—
Symbol 2
32 40 50 63 80 100 125 Se
®stopper ZP3EA-S1 ZP3EA-S2 %‘é__’
Flat type with - NN B
®Balljoint I3 E “roove | UM | ZP3EU-(T/Y)F1JB® | ZPSEU{TIY)F2IB3 ZP3EU-(T/Y)F3JB® ZPOEUTIVFAUBE) | ZPIEUTVFSIBY | &
buffer unit T pgBelons e it BM | ZP3EU-(T/Y)F1JB@) | ZPIEU-TY)F2IBY ZP3EU-(TIY)F3JB®‘ZP3EU-(TIY)F4JB@ ZP3EU-(TIV)F5JB) | ZPIEUHTIY)F6JBE) gé
©Mounting nut M18x 1.5 NT-05 — £ 3
(Single unit) M22 x 1.5 — ZPNA-M22 “g
g—
5
3
253
o
€45
o..m
s02
[Buffer unit part number example] @
ZP3E-TF32UMN [JBJ[10] E
ZP3EU-TF1 UB|[10] i
o
(3Buffer stroke

244 ®



	Mounting Bracket Assembly



